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3x + 5y = 52 (1)

ÝXb&�Jó��´�¿à�»8t°O gcd(3, 5) = 1 Aì�

5 = 3 · 1 + 2

3 = 2 · 1 + 1

2 = 1 · 2 + 0

D./��ÍÄ�Aì�

1 = 3− 2 · 1
= 3− (5− 3 · 1) · 1
= 3 · 2 + 5 · (−1)

X|ÿ

3 · 2 + 5 · (−1) = 1

�rË\¶| 52 ÿ

3 · 104 + 5 · (−52) = 52

Æ (x0 = 104, y0 = −52) 
 (1) P×àJó��.
 gcd(3, 5) = 1�¿à�§ 5 á (1) P�XbJó
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S = {(x, y) |x = 104− 5k, y = −52 + 3k, k ∈ Z}

9ì&ÆO (1) PÝXb&�Jó��Ç x = 104− 5k ≥ 0 v y = −52 + 3k ≥ 0�J

k ≤ 104

5
v k ≥ 52

3

. k ∈ Z�X|

18 =

⌈
52

3

⌉
≤ k ≤

⌊
104

5

⌋
= 20

Æ (1) PÝXb&�Jó��bëàAì�
(x = 14, y = 2) 	 k = 18

(x = 9, y = 5) 	 k = 19

(x = 4, y = 8) 	 k = 20
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